Subtroaction crossing 10 Problem solving - medium.
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da. Milo says,

| start on 15. | subtract § and
then | subtract 3. What
number will | land on?

db. Alex says,

0./

| start on 13. | subtract 2 and
then | subtract 4. What
number will | land on?

] . ’ [
o o o - -
e e -4 N -3
A O O B B
01 2 3 45 67 8 27071121314 175(0 1 2 3 4 5 6 7 8 9101112131415
Write the calculation to match. Write the calculation to match.
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La. Truve or false? Sb. True or false?
17 - % = & 12 - 5§ = 7

Use the ten frames to prove your answer.
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Use the ten frames to prove your answer.
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da. Sarah is using a part-whole model to
subftract.

Is she comect? Explain your answer.
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&b. Abdul is using a part-whole model to
subtract.

Is he comect? Explain your answer.
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